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1. %=z -7 a10]={1,3925,8,4,9,6,
73} ie., a[0]=1,a[1]=3, ..., a[8]=6, a[9]=7 >
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(A)1
(B)3
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(D)9
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(A) 90
(B) 103
(C) 193
(D) 260

private int f(int[] a, int n)

{
int index = 9;
for (inti=1; i<=n-1;1i=1+1)
{
if (a[i] >= a[index])
{
index = i;
}
}
return index;
}

private int a(int n, int m)

{
if (n < 10)
{
if (m < 10)
{
return n + m;
}
else
{
return a(n, m - 2) + m;
}
}
else
{
return a(n - 1, m) + n;
}
}




3. W - REtE NG R ? int[] A = new int[5];

int[] B = new int[5];
(A) 1 int c;
B) 4 for (int i =1; i <=4; i =1+ 1)
(© 13 {
(D) 33 A[i] = 2 + i * 4;
B[i] = 1 * 5;
}
c = 0;
for (int 1 =1; i<=4; i=1+1)
{
if (B[i] > A[i])
{
c =c+ (B[i] % A[i]);
}
else
{
c =1,
}
}

System.out.printf("%d\n", c);
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int[] a = new int[101];
(A) 1275 int[] b = new int[101];
(B) 1120 for (int 1 =1; i <=100; 1 = i + 1)
(C) 1000 {
(D) 810 b[i] = i;

}

a[@] = o;

for (int i =1; i <=100; i =1 + 1)

{

a[i] = b[i] + a[i - 1];
¥
System.out.printf("%d\n", a[50] - a[30]);




5. Xz 4+ Rg) :54-09(13) vHEL P ?

(A) 16
(B) 18
(C) 19
(D) 32

6. + TE'HE;‘@?J hEw?
(A) bar: 6 bar: 1 bar: 8
(B) bar: 6 foo: 1 bar: 3
(C) bar: 1 foo: 1 bar: 8
(D) bar: 6 foo: 1 foo: 1

private int g(int a)

{
if (a > 1)
{
return g(a - 2) + 3;
}
return a;
}

private static void foo(int i)

{
if (i <= 5)
{
System.out.printf("foo: %d\n", i);
}
else
{
bar(i - 10);
}
}
private static void bar(int i)
{
if (i <= 10)
{
System.out.printf("bar: %d\n", i);
}
else
{
foo(i - 5);
}
}
public static void Main()
{
fo0(15106);
bar(3091);
foo(6693);
t




7. AL SR CUE T 7V 350
(A) FR4F
(B) Hifds s
(C) #Fiz bk
(D) re ¢ ¢ &

8. AN ARNGET AL A0S SRR o h- B 8X4 Li(array) AL 2R B ARG
EAH =e i L] 0 ¥ & A[O][0] el a2 108 (L2414 )0 Bl A[1][2] e tadd =
as w7

(A) 120

(B) 124

(C) 130

(D) 12k ozt

9. 4r% X, R4 X ipBdcE En i 3K DO2Aw. + 54871 £3+ 5 5 92
(A) 1100 0101 1001 1001,

(B) 587871

(C) F599¢

(D) 162631

10. % A[L] ~ A[2] > 4= A[B]A W 4 5] A[lsh= B = % (element) » = 7|78 Ak 2 g7 00 A[1] e
AL2]ER % 24 9

(A) A[l]=A[2]; Al2]=A[l];

(B) A2l =A[l]l; AR]=A[2; All]=A[3];

(C) ARI=A[1]l; Alll=A[2]; Al2]=Al[3];

(D) mt ™



